Sample Questions

S. No. Question Option A Option B Option C Option D Answer

The following could be done with

1 the use of Internet Talking with friends |Booking tickets [Searching job All D
Which of the following is not a type

2 of Internet connection? Dial Up Connection [Digital Network |Direct Internet Access Digital Subscriber Line B
Dial up connection uses

3 to connect to the Internet. Telephone line Cable line Internet line None A
What is the difference between Dial ISDN is more

4 up Connection and Integrated ISDN is faster stable ISDN is faster and stable None C
Some of the popular internet

5 browsers are Internet Explorer Firefox Google Chrome All D
With you can send or

6 receive messages on Internet. Electronic mail Post Mail Telephone None A

7 What is the full form of E-Mail? Entry Mail Emergency Mail |Electronic mail Exit Mail C

Modem, Modem, Internet

What are the three basic elements [Modem, Browser and|telephone and Internet service Provider, Service Provider and

8 required to connect to the internet? |Window Browser Telephone and Browser Browser D

9 What is the full form of Wi-Fi? Wireless-Frequency |Wireless Fidelity [Wide Fidelity Wireless Find B

Narrow band digital [Broad band
10 2G network is based on network digital network |Wifi Network None A
Mobile phone

To access internet from your mobile [Mobile phone with |service that

11 phone you need: internet access supports data Mobile phone with data setting |All D




